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> aaa <- read.csv(“xxx.csv”)
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>a<-¢(1,2,3,4,5)

> plot(a) #(1)

> b <-¢(10,20,30,40,50) "~
> plot(a,b) #(2)

> plot(b,a) #(3)
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DB (BFEHAR)

3.3 #oE(1)
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RICkBETER
> cov12 <- sum((T1-mean(T1))*(T2-mean(T2)))/length(T1)
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RIZKBARIRILETE(1)

c(1, 2, 3)+4=c(1+4, 2+4, 3+4)
c(1, 2, 3)*4=c(1*4, 2*4, 3*4)
c(1, 2, 3)/4=c(1/4, 2/4, 3/4)

c(1, 2, 3)+c(4, 5, B)=c(1+4, 2+5, 3+6)
(1, 2, 3)*c(4, 5, 6)=c(1*4, 2*5, 3*6)
c(1, 2, 3)/c(4, 5, 6)c(1/4, 215, 3/6)

c(1, 2, 3, 4)y+c(1, 2)=c(1+1, 242, 3+1, 4+2)

c(1, 2, 3, 4)c(1, 2)=c(1/1, 2/2, 3/1, 4/2)

c(1, 2)lc(1, 2, 3, 4)=c(1/1, 2/2, 1/3, 2/4)
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RIZKBARIKILETE(2)

>T1<-¢(1,2,3,4,5)
>Tm <- mean(T1)
<0 >Tm
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> T3 <-¢(2,3,4,5,6)
> T14T3
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>T1+T1

>T2<-¢(1,2,3,4,5) [112 4 6 810

> T1*T2
(1] 14 91625
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3.3 HH8(2)
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> cor(T1, T2) ROBA%E A — I71RR
T7AM BB =ETENKEL — IEDTRUVERM
RTIZH S, BERELLTFESBIESVTLSA, BTHIMENSKEN - BORER
HEARBTIESBES FOmAHLN-1TE-RIZ
FOTWLBHDT, AN . 19 T7ARELEIT T, JOREFFRLESL. 22
3.4 HHBAZRE(2) 3.6 7711R%#(2)
AR =1 RIZ&EHEH
RIS < x(n)=y(n) <F—BAN S CVTTANDFEHAH >
ARER=1 — x(m=yM) > B < o BV LY )
HEFRBSMIAEVSEVLEDOHEELAH S > AT <- c(“BFE"HFE" BN, EE, - )
ISEW-EBNEDOHEENHS CHE=1 =0~ DERS
4% E N = N =1, N=0O =
BRSO ;ﬁf} 1;23,]1\3“ i > #1710 <- ifelse($F=="13%",1,0)

% T3 > #5110 <- ifelse(#fat=="87%",1,0)
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